EARAROBEEIERT — 2 N— IBISH —F

2018%8H250 (£) 2B/MNE9H

mogb WE -T2 SR 2BANEE (J8E) RlE ‘ (%] B ‘ (Bershl]  — |2 (&) 12000 &
[A&4] 1 7 14,000,000 § 2 7% :5,600,000 33 :3,500,000 4 3% :2,100,000 § 5 7 : 1,400,000 M
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
s - N =Rk :09. - . . HAfiEE (FXR)
i |\ hy T4 2 55 1(0_9)0 1-1 34.7| 93.9 | 6 (436) m;ﬁ%
LA Lh—L B:T7RIA4YT7q1> AH 1F
_ . AILEAT :09. = . . IR = (FEXR)
ol7lg| FATLTIHF i 2 ey (11 019/42) 3-3 34.6| 91.9 | 1 4232 ol i
LTAILFNRTF— BFAILNFTTTH T4 LS
- HhfE : — EHRZERE (FX)
slglii| 7 1TL/ ¥y 4 it 2 o 1(70?:)2 6-5 34.3| 92.1 | 2 <4+520) ﬁ@féfa (
o140 B:FAIL/ XX T4 I LS
= S FIREEZ . - E+REBE (FH)
4 AEZEIC LS B2 L (11'039/115) 2-2 35.1| 88.7 | 5 (4_222) ‘r@%&
Rvv=>tT71L B:TAILAILAS 71 ILYES
- SR =HB :09. - . . AE—R (ER)
5 6 FAILTHIY o2 =0 1(30/94)6 5-5 34.9| 87.6 3 :’224) hEEE
R:Z7)—>kb—A— B:74ILE>F— T4 I LY
TS s 2 | %A 1:09.8 3-3 35.2| 85.5 | 4 462 | BR (ER)
6111 22T 74 b6 55.0 (1 1/4) (+10) 1157 il
L:€r/07a4 BeSRINyE-— Ar—LT77—La—KRL—3a3>
. E B : = BREBFIZ (ER)
7171 9 YYHHE Yy v 4 2 =i (17;0;% 6-8 35.0| 85.5 | 8 (4&2) %ﬁﬁn:(
LART T ZXx— BRXHI=FL wr B
i 2 | BERX 1:10.4 9-9 35.3| 79.3 | 9 408 | FIETES (RR)
818(10 AHh—bT77TY 53.0 (3 1/2) (0) IINERAE
R AKYIYRIR B:TLI v XF vy b A N—LTyp—La—KRL—3>
9/5|5|3v¥FnU=A [B] o2 E%I_ﬂ—gﬁu 1710@5 6-5 3.6 78.5 | 7 (478) L’Jﬁjf_g; &R
R:O-I>FUL Bie—ULITAAR g Bl B
N . AFEEN :10. - . . S FIEL (ER
10 NP2 i 2 Bl 1(71?:;5 9-9 35.5| 78.4 | 10 (4_726) oAl
L:T7yv3Is3—L BiNRZ—L-—> AH +F
— 4= JIIESRE : - EME= (FHR)
» 0| BV ZFv—1)— o2 M 1.(171>.7 9-11 36.6 | 67.8 | 11 (4_164) i (
LihoNZ— BA14Vv> HE B
@ 21 L
£ 46.1-34.7
NAa24 L | 12.2-10.7-11.4-11.6-11.5-11.6
® 1—F—@EBIERL
13—7F-
Pal=5F=
== 7,4(1,8)6(5,9,11) (2,3,10)
40 —F— 7,4(1,8) (5,6,11)9(3,10)-2
[ RN
B 7 3,350M 714K 7-8 540M e E 6-7 570M JEE 7-8-11 1,250
# B 7 320H 7-1 1,020H B E 7-8 1,750M 3EE 7-8-11 22,830
8 110 8-11 160M B H 7-8 6,490M
1 1309

ABICOVWTRDTEEERROODE. TR LIV,




